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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a child-centered learning practice? / Fufafeaada ST
TS STa-id AT &7 31ar 781 32

1. Make the student more active in acquiring knowledge and skills / I 3R DI 3ifofd B |
BT D1 3{Teeh Hichd FM

2. Make the student more aware of what they are doing and why they are doing it / ®I CARSICIN
# ffReh BRI 1 foh I R PRI § IR T PR IG 3|

3. Working under teacher’s direction and decisions / i & e ok fAofal & ded dH
HRAT

4. Focus on interaction, such as the use of tutorials and other discussion groups / RS faaR-

o=l UR e Hfed o, O b SeiRad iR o T Tqg! &1 SuaiT x|

Correct Answer :-

« Working under teacher’s direction and decisions / e & e SR Al & ded PIH
DT

2) Which of the following is used in tests of attitude? / fFrafafea ¥ 9 fege suar
g & Tdtemn # farar sirar 32

1. Aptitude test / STHETTAT URI&OT
2. Achievement test / SUATSI qﬂ&I'UT

3.1Q test/@@ﬂﬂqﬁm (3‘”_5%?1%%‘)
4. Likert scale / oTpc Wbl

Correct Answer :-

. Likert scale / foTopc Tl
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3) Multicultural awareness in the field of education includes the appreC|at|on for and
understanding of differences in students in terms of their &‘IT % a_?f ﬁ

TEANPIAPD ANREPATASTD %mﬁﬁmﬁmﬂﬁaﬁm@ﬁvm

1. skills and abilities / DI 3R &FTT

2. special needs and giftedness/ﬁ@’q 31I0|-‘2¢I0deQ \3?|T JUGIR
3. socioeconomic status and religious backgrounds/ JTATRT -3 fRUfe 3R ?ﬂ%t{g{&[
4, behaviours and dispositions / SddgIR Gh?w'l-ﬂa

Correct Answer :-

« socioeconomic status and religious backgrounds/ STHTToT -3Tfe fRUfA &k m%qgﬂifir

4) The anti-anxiety drug is a drug whose primary behavioral effect is the reduction of anxiety
but it functions as Central Nervous System (CNS)____ Qﬁ d-1d dl, Udh Q"\‘ﬁ' odl %
qu%wum,ﬁmﬁmm%ﬁ%%ﬁﬂmaﬁ
(HTTEE) & U # BT ST 8

1. Activator/ SBIRP
2. Depressant/ AdHIqdh
3. Stimulant/ J<ISTh
4. Modifier/ TRND

Correct Answer :-

« Depressant/ Addlgh

5) Which of the following mainly causes children to fail in examinations? / Fafaead 9

DIF-IT GBI =0 I Il ®1 udtefait & Srawd 811 &1 HIRU1 a7 82
1. Environment in the classroom /$&|T$ftlﬁaQT

2. Physical strength /WW&[

3. Fear of Examination /tlﬂ&‘ITWET

4. Lack of patience during examination / W& éRIq & ot Bt

Correct Answer :-

« Fear of Examination /W&ﬂﬁ@?

6) “Learning by doing” is when learning is: / “HYh ARG a9 aﬁT % o9 SffeRT A
Eﬂ?IT %:
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1. Teacher centred / TRI&® hi~gd

2. Relevant and practical / TR ‘3‘ﬁT WTJI_E!TW
3. Passive and theoretical / Af&pT 3R ErAIGED
4. Rote or didactic / T () T &g

Correct Answer :-

« Relevant and practical / RIS 3R B?IIHB]W

7) Children who deviate considerably from the normal children are known as / o g

I T A BTH] P Bld €, 38 59 U A ST S1dT §:
1. Autistic children / TTORTIUN S (GTUI%% ﬁl@f‘i}

2. Abnormal children / 3TRIHRI 9=

3. Intelligent children / YfGHM o=

4. Exceptional children / 3{HTURUI CE|

Correct Answer :~-

« Exceptional children / 3T RO §d

8) Gender refers to the ___ constructed differences in persons. / Hfeaal § I {3 b |
Rymrarai &) foi (S89) deftfa sear g1

1. Educationally / ﬁf\w FOY

2. Emotionally / HIdTHD U

3. Biologically /e =2

4. Socially / JHI® =0 4

Correct Answer :-

. Socially / JTHISTH &Y J

9) The psychologist, who conducted experiments of trial and error learning, was ./

3 getaT® 3, e vaa-Fie i & v &t TEferd fasar ATl
1. Thorndike / %ﬂw

2. Kohler / Elﬁ_&'?ﬂ
3, Skinner / "R

4. Pavlov / UTd@IG
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Correct Answer :-

o Thorndike / Y 313|3$

10) The learning that happens in the formal environment is studied by ./ Nu=nive
IIATGaROT H 11 ATl SRR &1 ERT g fohaT S 31

1. Anthropologists / EIEEICE ]

2. Educational psychologists / fRrar q:hﬁﬁl:ﬁ
3. Clinical psychologists / W EEIERIRI
4. Social psychologists / IS EEIICHIE]
Correct Answer :-

 Educational psychologists / RRrem wifasm=t

11) Which profession uses the aptitude tests most? /fPau Grﬁ-ﬁﬁ'[ EIECIR:CL
3T IuT o e 82

1. Guidance Counsellor/ﬁww
2. Doctors/ﬁfw

3. Lawyers/ﬁﬂﬂ?ﬁ

4. Engineers/SSlTa%

Correct Answer :-

» Guidance Counsellor/ rll‘iaQi:I RIARD

12) Which of the following theories of motivation does not focus in any way on biological

aspects and needs? / ﬁﬁﬁr@ﬁﬁﬁﬁwn?ﬂﬁ?-m ﬁl?s{i_cf, aﬁﬁméﬁ \"rﬁ?
Srazgdarsi R fedt ot yeR & e Siga T srar g2

1. Drive theory / SIRd %@ia
2. Hierarchy of needs theory / agemdIsil & Rigid &1 UalJshH

3. Manifest needs theory / TI&AT B Rigid P 3TIIHT Bl &
4. Instinct theory / q% Rigid

Correct Answer :-

« Manifest needs theory / UI&dl P Rigid o1 Smawgeddr Eﬁ?ﬂ %



13) Which of the following is not considered a cognitive form of learning? / ﬁ"}lﬁl’@ﬂ a3
5 SIFERTH T TP SHTHS U g1 HIFT ST 82

1. Vicarious conditioning / W@W G-Iﬂ_d e (ﬁ%ﬁma HS I )}

2. Latent learning / 3{oderd S{fETH
3. Observational learning / ICESLNIREREIRU e

4. Classical conditioning / R 3G (FATRIB oI
Correct Answer :-

« Classical conditioning / Rlescip] 3‘@?47'[ @FIT@IW HSIRIAM)

14) Which of the following principle can be used to make the students curious about the
topic?/ FrufarEd ¥ & fva Rigia &1 Suai Bl & fawg & ar & Sg® 9911 & foe
o < wwar g2

1. Already know / Ugd 9 Ul (m :h)

2. Willing to know / ST &1 gz (A g Al

3. Not willing to know / ST 1 321 = §IHT (:T\I%w_g::h)
4. Don’t know / Tl =T BT (@ﬁ?:h)

Correct Answer :-

« Willing to know / STF &1 geaT (faferr g

15) Which of the following statements is true regarding a Constructivist classroom? /

Frafafad # § S19-91 $Y= FEEd! (Fefaciore) a1 & 99y 3 I3 82

1. The classroom environment is intellectually, emotionally and physically safe. / &I T dTdTdRUT

Sfg®, HIgTeT® 3R Wifdes 9 I JR3E g1 |
2. The learning process lacks structure. / ST UfehaT H AT BT 31T Bl %I

3. Student-student interactions have no role to play in a constructivist classroom. / EERICIE]

([Pefaciae) Hem & BH-81 F 9 aradid 31 B1E YfieT 76T gt B

4. The method of instruction is purely didactic in a constructivist classroom. / fear &t ﬁﬁ[, Th
TETaTET e B quid: Riemie 1

Correct Answer :-

+ The classroom environment is intellectually, emotionally and physically safe. / &I T dIdTdUT

Sifad®, IaTeT® 3R Hifde ©u I QR g areul
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In what type of memory is the skill of riding a cycle stored? / 5T TR DY '\“{ﬁ T TP

Arefrd aom &1 B SUfed gar a2

1. Procedural memory / Wb aTaTd Gfdl

2. Tconic memory / UTeTHT TEIRIT WA (SHTSHITeH BERY)
3. Episodic memory / AT W (TUEIfSs BHIRT)

4. Declarative memory / IINUTE® Ffd

Correct Answer :-

« Procedural memory / BIERICC Fﬂﬁf

17) Self-improvement is given importance in approaches to personality. / 3TcH-

YUR P Fafqied & TSN & Ag &t ol g1
1. Cognitive / TIFTED
2. Psychoanalytic / SR RGN

3, Humanistic / Hdara!
4, Biological / FICED

Correct Answer :-

o Humanistic / II'FITﬂ'I?ﬁ

18) What kind a learner is a child who seems to learn best when carrying out a physical

activity related to the subject? / T Il foa GREGN ﬁ@lﬂﬁ% o faug @ et Wifds
Tiafafl F3a 5T A 3T T 872

1. Aural /A
2. Reading/writing / Y&/
3. Visual / €Y

4, Kinesthetic / Wﬁméa"r

Correct Answer :-

« Kinesthetic / Tlﬁmaﬁ

19) Learning is defined as a process of bringing relatively permanent changes in the

of an organism. / ST P TP Silg & ﬁ&'ﬁ'&l’l’ﬁ@ﬂ?ﬂ
uRaed @ &t ufsear & &0 # afkyrita far w8l

1. Behavior / gdgIX
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2. Thought / [daR
3. Personality / Hfada

4, Intelligence / §@
Correct Answer :-

» Behavior / AdglR

20) In the Fearless Peer experiment by Bandura, who played the role of the model? /

UG gRI f6T T fPgvely figewan ¥, fous digd 3t yffeT fAurs 42
1. The experimenter / TARTE T =

2. The fearless child / SR s= 4

3. The friendly dog / ToEad o A

4. The fearful child / HIHId §=d 4

Correct Answer :-

« The fearless child / g% G

21) Study of meaning in language is known as: / HTHT H 31 & 3reHy Bl I A ST
EIGIEE

1. Morphology / HIplatol
2. Linguistics / feiffaRee
3. Syntax / Ricaq

4. Semantics / RHfeaT

Correct Answer :-

» Semantics / Rfeay

22) In view of Piaget the stage of development from the age 7 to 12 years is called: / frast &

TR, 79 12 T B1 IY & fIHRT B TR H1 HET 1T 3:
1. Concrete operational /EET BSIERIREED

2. Formal operational / =i dirares

3. Pre operational / qa‘-qiaﬁrraqa?

4, Sensory motor stage / ﬂa?ﬁ el?ﬂﬁ HART

Correct Answer :-
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« Concrete operational /H\_Cf GIERRIED

23) Four limbs of the body are affected in case of . & HTHd § IR & IR ST
gHIfaa gid & |

1. Triplegia/glé'@m

2. Biplegia / CIEFSIUR]

3. Quadriplegia / Eﬁ'@@ﬁtﬂ
4, Hemiplegia / %Tﬂ@fﬁlzﬂ

Correct Answer :-

« Quadriplegia / aa@@rﬁm

24) Developing one’s personality helps in / foit ¥ HAfcda & faea A o geradn
Bt 81

1. Quicken the process of maturation. / ROl &1 UihaT &I sl B
2. Increasing body stature. / IRR BIhHG ag%f

3. Dealing with social situations. / RIEINED @rﬁlﬁr @ ﬁtl?ef

4, Overcome congenital disorders. / SIHSIId fdPRI TR Wtﬂﬁ

Correct Answer :-

« Dealing with social situations. / grAToe fRufaal | e

25) According to Thorndike’s theory, the frequency of stimulus-response pairings determine

the formation of/ YT SI3® & RIGid & IR, SATTI-UfafohaT JHi &1 Mghwy, e o1
T84 fAeifea Har g:

1. Reinforcements / Udclq
2. Habits / 3{Tqd

3. Punishments / GS

4. Conditioning / IS

Correct Answer :-

« Habits / 3Tad
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Which of the following is an example of creative thinking? / Fafafaa 94 3 o4 waEe
fRias ®13eRRUIR?

1. Arguing/ﬂém

2. Managing time / 99 U8
3. Active listening / Tihg qur
4. Questioning / YB-dId

Correct Answer :~-

« Questioning / Y&-dI&®

27) Language is which of the following types of content? / HTUI, fFofafaadd fFayer
o1 fawg-awg 82

1. Auditory / HdU[

2. Pedanﬁc/m
3. Visual / €Y

4, Symbolic/l:l'i%ﬁ%la;

Correct Answer :-

« Symbolic/ LEICARED
28) CANCELLED

Which of the following compares the human cognition to the working of a computer?/

Frafafaa 3 S $i9 due & Fmer & e aFd sryfa @) ga-n srar g2
1. Neural Processing / GSIECARCEL]

2. Network mapping / ECERIBIEEL

3. Information Processing / ¥ Ush H

4. Mind mapping / H9 A

Correct Answer :-
« Information Processing / ¥l UshH
29) CANCELLED

What is described as the pattern of enduring characteristics that defines a person and

produces consistency and individuality? / IR faRivarsi & ded & =u A Far gfvfa % 1
TS i &1 TR HeaT 3 3R RURAT tdaafwi &1 IcTe Hedl 82
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1. Personality / Hfcricd
2. Learning / 3T

3. Intelligence / qu@

4. Motivation / ORUTT

Correct Answer :-

« Personality / Sl

30) CANCELLED

The term Abstract Thinking refers to / THGTT I%m = A gdft@ %:
1. Personality / Tfadd

2. Attitude / FIGRT

3. Intelligence / Q@
4. Motivation / oRun

Correct Answer :-

« Intelligence /@@

Topic:- General Sanskrit(L1GS)

Y ‘Tred T ScUET I &2
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2) N

‘SieIdiaTdeh:” S Hicdl: h: ?
. TJuCIE: |
_ dledger: |

¥ T 5ouEy Sgade fohe ?
. a2k

3R

3.34‘_\'?{ [

| fed |

Correct Answer :-

 Gled |

Y ¢o32 =y dear oed: foaa |

AT d AT heTGAITH |

1

canaecafSIhedceraadd |
& A
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CaTid e T ehelag TR+, |
3.
| alafdercafaaeiacrrerdas |

Correct Answer :-

cardercaidehsTagererds |

ITRHTGH |

3
aMTeATTH_ |
4,

Correct Answer :-
° e |

Y g qeGEd H“w\nq fehd ?
1 | ‘*~I
da |
2. &
3IEHG |
3. =
IJSAG |
4., = ~
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Correct Answer :-

? F8 Tl Fedl Uedd ¥ R ?

1 THRIcar |

2 AT car |

, Teretcar |
, ofsed |

Correct Answer :-

. deEar |
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R e

JHrd-Rl: AEGAT e |
HTIUTGUGT |

d—llﬂ%lvﬂ‘-‘ﬁ |

1

2

He_.ljwua‘r |

3
, 3TTTeaTehlicien! |

Correct Answer :-

ngua’f |

10)

Uch QecET 37T oh: ?

11)

HIGIT: 9 h: ?
AT |

1.

) ATER: |
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aréfenrarGeTa |

1

ERMEREEI G

2

| ArdhaTgsTH |
| TshRIGETGeH |

Correct Answer ;-

aréfehargeA# |

2 A B9 |7 3 a1 o (o geEid |
 JfewA |
) JERGE. |

, BillhEH |

Correct Answer :-
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N .jrrld'lklk‘dH |

43:|‘ﬁ,‘ﬂﬂil'l

Correct Answer :-

B SNEAFET ST UcTd: &i?
ddd |

1. e

2 DA |
dHel |

3. =2 7

\ ecdl |

Correct Answer -

g |
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, 3 |

17) TR AeCET q_ﬁ;ﬁm—nguu{ feheq 2
 dcdrl: |
, dcdle |

Ud{H |
4, =2 "

Correct Answer :-

18)

el 5fd Uy Hefwu fohd ?
Il |

1

2. ‘I*"l
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_ GfereT |
e |

Correct Answer :-

19) Siﬂlcﬂi M_i._qmﬁﬂbq-quuﬂ@q m:[ ?
SLERIC
| 3

Correct Answer :-

WQT: I
1.

URTHERT: |
3 -
| CIEET: |
dIeHeR: |
. O

4

Correct Answer :-
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, 31e |
3T |
| 31|

Correct Answer :~-

? el soad arg: # 2

I

U
T

3, 2
4, l
Correct Answer :-

T |

2 Tger erecaled & TaHiea: q‘gﬂﬁ?
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_iadmT |
2. I
Tt |

3. 2
. TUAT |

Cofrect Answer :-
Tadf |
R -

® Hrsge e afeufaeed Fed |
, S+ Il |

W+

ar + 31gH |

3.
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T+ A

Correct Answer :-

[ ™

gUT:’ $cAET qUN, Joeh qereh felad |

-

T I T

1

ZETWTH:I

T T T3TI3;N

3. -
ReE R RE Y
Correct Answer :-

T 3 LY A L 30

7 uehdcariieta: sfa e ouTa |

1 Uehdcdneiia |

Uehdcaliierd |

2

Uehdcaliierd |

3

TehTacaTiyerd |

4

Correct Answer :-

Tehdcaliierd |
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" fouey sfar wear Rererdt ada 2
1 et |

, |

| TCAHAT |

| aladrr |

Correct Answer i

 HTAAT |

* goFdeg# 3fd U gUh Hed |

1 dd dcd |
N dd chcd |
, d9d cd |
. deh dcd |

Correct Answer :-

dd dcd |

" enerafEy s fegaed R
1. 3 | II
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 Telr Eipearyl
| QTelT: gAY |
, LMol aiAy |

Correct Answer :-

MTETTAT: OTEY |

Topic:- General Hindi(L2GH)

1) ST HE G
7, Mg gl

S & § g3 gt gerat
ofaal @1 iy et gruma;
- QR T, ot 7S arfee,
$ad & Hal I A1g I+t dleHt
Yeit It T G a7t §X Siifad &for
BT HA AT

T, B g gl

YR YT 94T g, U & T IHT;
forern 8t ST g ST € HRAR|
TYT HT IRV 5T Fad [Gon 8,
T dfseT & ot v A pwn R
St 8 TUrd Bf&TT IUPBT J HR Yo
BT HA AT

T, I & gTI

IUYa UL Bt UGHR +d IR T UY $HT 3R Td153:
U - FIfh &1 wafaar) 2eg et & ?

1. =
2. faurat
3, Tol
4, 3&RT

Correct Answer :-
o IH&RT
2) CANCELLED

BT T ZAT
T, §I g4 g
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Sita ® § g gitrat gerast

Sfaal & -1y et AHTE;
- A9 G, S 7S e,
Had & Hal Pt ATG g Al
Yelt Wt U G a4 §- Siifad &1
BT A G

T, 1T g4 gl

IR 3 U1 1 9HT &, T © 1 AXANT;
foram & <1 g I € wRETET|
YT BT IR0 fid Fad JIrqen &,
B dfge § il v 3a pwm B
St 8 gUTd HST BT G FR GoH
BT A ZAT

T, TR g8 g

ST YR FI UgH - IR T UY BT IR Id153:

TR - TR Biaar § Bfd 3 77 Bi b 3R W 7 TN S P g ?
1. 3T A P el

2. 3{dlld

3. YdbTd

4, Yfasg

Correct Answer :-

3) ORI Hd T
T, I g@ g

St # § g3 gt gerast
ofaat &t fRm-tig et wAvTa;
-y A9 I, dta 7S arfieh,
$ad S Gl B A1G I+ igAT|

il T TP G T41 8% Siifad &or
BT A AT

T, BRI g T

=Y § AT 4T B, A § T AT
foreram €t a1 q o €y
YT BT TR T Fad Frqon g,
& g ¥ ol te 3a pwn B

N ® g HfET BT J HR [oH

BT Hd AT
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T, §RI g4 gl

ST YRR FI UgH 1 I T UY BT IR 9d153:
TR - S P UG A § RATFIAT S ?

1. T gE BT g |

2, I 33T Bl |

3. Y™ ST BT g |

4, AT UEA BIAT g

Correct Answer :-

. TS BaTg|

4) ST HA FN

T, BRI g T

Sita= # g g gt gerait
ol Ft -ty Selt AUt
T-EY Y TG, St 73 A,
Had S Bl Y a1g a9 G|
et ¥t Th G IaT e Sifdd &
ST Hd FAT

T, BRI g4 T

I AT 3T ©, A & 7 HIHT;
foreram €t a1 q S 8 R
YT BT TR e Sad Fqon 2,
& dfser § ol te 3a gwn 31
it ® gurdf BT IHST g R quT
BT Hd AT

T, I g9 g

SUYS U B UGHT - U T Y HT S<R 9133
U - U Ul $T MY g ?

1. BT 3R YA

2. BRTH G0

3. BT 3R Ty

4. 91T 3R TN

Correct Answer :-
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5) BT AT

T+, I g@ g

Sita & € &1 gt gerat
Bfaal & -1y Helt AaHTEY;
-y A9 33, St 7S A,
Fad S Hal Bt AG g Dl |

el it T G I 8 Sitfad &
BT A AT

T, I g9 g

I § A1 9HT &, 91 8 1 SREE;
v & et g e 8 wREm |
YT BT TR T Sad Trqon g,
W dfger § fsdl ve w9 o B
Wt § guUrd Hf&= BT F HR qoH
BT A T

T, I g@ g

ST UL HI UgHR -i19 U T U HT IR Ia153:
T - TR Tl B PEIGO  S= § ?
1LYH

2. T

3. fde

4. P

6) BT Hd Al

T, TR g8 g

Sffas & € 9¥ gt gereit
ofaat st -1ty et gvTa;
-Gy A I, dta g arie,
$ad & Fal B a1 g+ gl
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yelt W T g FaT X Sifad &
BT Hd I

T, I g@ g

I ¢ U1 9HT &, 9 § 1 WA

foram € dreT g Saa &t wREm

TYAT BT IRVT fid Had Ggon g,

T dfeeT | Redl v T Fom B

Wt 8 gurd Hf&w BT G HR go
BT Hd I

T, I g@ g

S U= B UgHR A9 U T Uy &7 IR Ia153:
U - IR Ui A '@ gl g W TR 2
1, foban

2. fa=Iwor

3. T

4, 4

Correct Answer :-

7) ST A Al

T, I §@ g

St # € 93 gt gerait
ol 3t feF-viy Helt AUTSY;
-9 A 331, St TS AR,
Fad & Eal B a1 g+ aigA1
et < T T T & Shfd &
BT 7 AT

T, TR g& gl

I AT UG §, 914 § T AT
foreT 5% ST q ST &Y W
TYAT T IRV fid Sad GIqun g,
& dfder # f5dt ue v pwn 21
St § gurd B ST G HR qE
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BRI Hd AT

T, I g& g

ST TR B UGH - U T UY BT IR Ia154:
U - T STAT @RI TATE 2

1. 9%

2. 09

3. A

4, Y

Correct Answer :-

8) BN Ad I

T, I g@ g

Sfte # & T gitrat gerat

Bt 3t fz-viy Selt AUt
- Y I, e 1S A,
Had & Fal B g T qre
et I T 3 IaT 6F Shtfad &1
BT A I

T, I g@ g

I AT IHT ©, A1 & 7 GIHT;
forern € drs1 g e €t wRwm
TYAT BT IRV fid Had Gqun g,
B et # R5dl e 3a o B
St & aurd $idT 3HST § FR g
BT A T

T, I g& g

IWa U B UGH 1 U T UY BT I 9154
TR - B3 F TR 77 IR} it fras N urmar g 2
1. $Id G

2. Had I

3. had O

4, IWIad gt
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Correct Answer :-

. SWRigd g4t

9) BT Ad T
T, I g g

St # g g gt gerast

ofaal #t REF-11y el FHTa-T;

- Y ¥, Sta 1% AT,

Haa » ol I g1 a4t "ia

il I TP G T4T 83 Siifad &or
BT Hd AT

T, I g g

I ¢ AT 944G B, A & 7 HREA;

forerm €t e e €t R

TYAT BT 2RI i Had gurqon €,

e dfgeT & f5dt ue wa pwn g1

St 8 gurd ST ST G HR UE
BT HA G

T, TN g g

ST U B UgHR 117 IR T ¥Y HT S Ia153:
LT - BfA P AR AT ST AT 2 ?
1. STt 1 3fclid o 1 ST

2. SiaH Pl IRl o FIY ST

3. Sila & Bled-dbdl H ST

4, Sita ! T o Sfi=

Correct Answer :-

o SiigT B Ut § S

10) ST U T
T+, I §@ g

Sfta= & § ge gt geraht
ofaal Ft femp-tiy Bt AUt
T-gY A9 I, dta 7 arfaeh,
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$Ad S Bl i ATG I gl |

et T TP G T TR St &or

BT A I

T, BRI g T

I § A1 7 dUT B, I § 1 IR

Ry & o1 g 31 & wRwman

YT $T IRV 9 Faa Frqun g,

T dfeT A f5dt e | o 3

S § gurd Hf&TT BT  HR qo

BT Hd AT

T, I g@ g

IUT YR P UgHT -1 U T WY HT IR Ta139:
TR - BfA P AR 5 digA1 3d 30 TS 7 g e 8 2
1. T ST T

2. DY 3R Y

3. HIH-HHH

4. T 3R Bifct

Correct Answer :-

. P S I

11) ST A GO

T, I §& gl

Sftas 7 € 93 gt geraeit
ol #t fer-vig et AUt
- A ¥, dta T3 A,
Haa & Gal @I a1 a4t °fet
Yl At T P TIaT g Sitdd &1
BT A AT

T, I §@ g

I AT IHT ©, A § 7 AT
foram & a1 4 I € M
TYAT BT IRV Fa Fae Joqun g,
B dfser # il e 3 o B
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St g Ut Hi& IHDT q IR Yo

BT T T

T, I g9 g

ST TR H1 USHR -1 R T UY BT IR 9d183:
UL - Bfd BTAT P 7 g1 P e i pgar e 2

1. ST T g B B |

2. 9 &1 UG Bt §1

3. R G BT |

4. YA QT BIaT g |

Correct Answer :-

. IUY A g BT g

12) B Ad AT

T, I §& g

Sfias # € 9& gitar gerait

el @ f-iy Teft gvTas;
T-GOY AV TG, dta 7 A,
S & Gell BI A1g a1 AlGH |
yeit Wt T G g1 B Siifad &0n
BT 7d Gl

T, I §@ g

I3 U1 IHT &, T & 7 SREAT;
T €t dteT g I g1 wwm|
TYAT T IRVT fa Hae JOqen g,
& dfder A ol e vd pwn 21
St g gurd w3 TSt g R g
BT 7d G

T, TR g8 gl

ST TR B TP 19 YR T U HT IR Ia153:
TR - TR YO F1 319 Bt A A e W R fiar® 2
1. (G SRTEAT R

2, ey PR ST B |

3. Ui W B ST 5|
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4, AT B dlq FHd AT G|

Correct Answer :-

. St @A WA gl

13) ST °d T

A, S gE gl

Sfies # § e gt gerarit

Bl Ft Rer-viy Belt FUTa;
T-IY Y 3G, da 75 i,
$ad & Gl I ATG g1 FlIGAT|
Yot At TP G ST 5 Sifdd &1
BT HA AT

T, BN g8 g

IR 3 U1 9HT &, I § 1 SREN;
v & o1 g I & wRuTE
WY BT IRV fia Had TP g,
B dfeet A fodt v T o 31
N 8 gurd HfeT IqBT G HR [E
BT Hd AT

T, I g9 g

STa UL B UgHR -1 R T UY BT IR 9q153:
U - Pad ST AR 3 wrgar g ?

1. T A

2. A 91

3. % qle!

4, TS} ATch

Correct Answer -

. TN

14) ST Ud T

T, EMgE e

e & & g gitaT gerast

Sfaal ot REFA-T1e el HHIE=T;
-G 9 G, S g A,
Faa S Hal Pt AIG S gl
Yot It TH G TIT 8 Siifad &7
BT Hd GAT

T, §I g@ gl

Y g YT dHd §, 7 & 9 AN
foramm € dteT g IamT g WRETaT|
YT BT IRV f&a aa Frqun g,
B g § i v Ia Fwn B
oY 8 aurdf wfee @ g # o
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BT Hd Gl
T, §ITT g g

IUYS UL B UgH A YD T UY 6T 3R Id133:
U - Hfd & ATAR di<ll I1ell B! a1 HRATE ?
1, ASHN I HRAT

2. oA
3. 79 &I HRY AT

4, Ugddl

Correct Answer :-

o FI B UK AT

15) ST Ud I

W, E g

Siae & § 3 gt geraeht

ol &Y -ty Hefl gauEH;
- Y ¥, S 75 i,
Had S Bal P UG g1 Al
it St T GO IIaT g% Silfad &1
BT Hd FAT

T, §R g9 g T

YY1 g YT dHT B, W 8 9 AWM
forern €t st g S B HREm
YT BT IR fie Had Tqon &,
B dfseT # f5dl e I pon Bl
St 8 gurd BfeT IHT G HR gE
BT A FAT

7, 11 g gl

ST TR DI TGP -l T TT UY FHT IR 133
UM - AT BT S R ?

1. Goft

2. DI

3.9%0

4,349

Correct Answer :-

cl

16) Ihc HIY A gANI F 7Y T T F, 3(eR BSP IgT AT, SHiEl | sarar-dt FAea w8t M1 B & et
# Frpad 8§ SUA aeaTen dg ¥ foran| SUR gRM-RUidT F sifd ar gid 6t I & Srdsg araR-91 giae
HE IUD SR FeT 3R R -4 gart 3= & It T § WSt Iuast Ff- 3R usHR: 3
IS 3R Biqea-udl =¥ F ¢, g A A ITH! 3R 3@ T 7 373 | Wl Tghe ST A 13
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AT Dot F gR IR Bavd! §3 98 U Hrot § o gl | gee W geald! A ara 7R ¥a! 8t 39 R 3t
TS BIHx | gedlg! Iac & ARt g1d gee | o flt1 3T 921 715 | wReg gl & fea ot am o off wgh
P aRE oTd 81 A1 TSR A ST B | SATHR I8 S g3 & (¢ WS a2 $t oId-4URT TR
AR a1 werawy g dof o g @t

ITYR TR B UgH -1 IS T Y BT IR JaTsd:
U - USIRET A gaAR! B 5 ToR I 3@ 2

1. TP Y

2. 3T o

.09 9

4, NyG

Correct Answer :-

. ongf

17) S PIY A GART F T T T 9, 3R B &7 U1, i@l | saren-t Fea w6 R % & et
# frpad € I oRam d¢ 7 o1 SR gRM-Ruidt @ 3ifd 7R g 8§ SiuA & arasie dreR-31 §ies
TE IAD SR FeT SR R -4 gart i § 91T | ST § WSt IqDt Ff-a 3R usHRa: 3
ITP! 3R Pigga-yi =@ F @, uﬁm%mmqumﬁlmw@&nﬁm
TN B8t F gR W hepd] §S a8 3T Dot § o gefl | Fer W geard! & e gr &) At ST Wt
TS 3B | Fedlel Iae & | ART g1d geo | o FRT | 3R 31 15| UReg g & faa ot 3T 3 off wgt
P aRg oid a1 A1 TSIREI A B! Bt & SATHR a8 S g3+ & g #e a9+ ot Fad-4RT TR
IRTY {41 oy ag st Wt g @il

ISP TR P UgH -1 T T YY BT S<R qa134:
U — T H Wgad Sche 2eg BT 3 Tgi |1 82

1.39

2. 3«dH

3. SPE
4, It

Correct Answer :-

18) Iwhe HIY I GART & YA Tdl MY A, 3R HeH 3T Ul, 3Gl I saren-t a8t 01 g & et
# forepard €1 SU oRaTe §¢ B ferdn| SR glom-RuidR & 3| TR 81 € S & sras[g araR-1 §1e
P ITD! AR FeT 3T 3R TR-dR gart = § «idt it & WSt Suat Tufat v usi= =
IS 3R Biqea-udl = T I, mm%mmqumﬁwﬂzﬁwsﬁ&nﬁm
AT B8 F gR W hpd! §S 98 AT Do § o gefl | IYee W geald) # gra 4R ) &t Se W
TS 3B | gedlg! Iae & ART g1d Ieg § o 1 3mT g31 715 | uReg gl & fea ot 3w 3@ off wgt
P ¥ oa B! At TSIREN A ST Fiodl A 1HR 98 M g3+ & forw M a== &Y Sa-urT AR
AR fHaT1| ey 98 st Wt g et

IUYS TR P UgHR I YD T UY HT IR qa13d:
U= - 3R’ Xeg BT 3f § 2
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1. B
2. 88
3, ATlh

4, el

Correct Answer :~-

19) Ihe HIY A GART b YA TA MY A, AR Bed 8T UI, i@l | sarar- fFea vt 0| e & et
# frpad € S geare d¢ 37 ol SR gRa-Ruidt @ sifd TR g1d 8 SR ¥ arase areR-91 §ies
TE ITDT 3R FeT M 3R -4 gart 3= A it ST H It It Ti=ay iR usiRe 3

I 3R Diqea-uil =¥ F T, uﬁmﬁmﬁmqumwﬂaﬁwaﬁ&nﬁm
ATt PIod b §R W Bl g5 a8 AT Biod & o gl | Iee W geaid! # gra 93 36t ¢l 39 Wt
TS 3B | Tealg! Iac &1 TRI g1 Iee A o k1 o1 921 715 | wReg g} & fea ot o o off wgh
P aRE oTd &1 A1 TSR A IS B T SATHR 98 S g3+ & f¢ WS aw=i ot od-URT TR
AR fHaT| wawa=y a8 33t Wt g+ @t

JUR TR B UG -9 U T Y BT IR qargd:
W= - et I e A H R § ?

1. 3UHl

2. dlu

3. SE

4, ¥Uh

Correct Answer :-

20) IE HIY A AR & TY Tdl MY 3, 3R B Vg1 Y, 3Hidl A warar-dt fewa &t &t B & eft
# frperd 1 9 gear ¢ #7 foran| SR gRM-Ruidt @ sifd IR 814 8 SivA & STase dER-91 giax
Pp IFD! AR FeT 3R 3R TR-dR gart = § it i & WSt Iat Tufat ok v =
ITD! 3R Digga-ul =P F @, Wmﬁﬁaﬁmqumwﬂzﬁwaﬁ&nﬁm
U BIoS P GR W hpd! S a8 T Blod) § o gufl | Ier W geard] # gra gr &) &t 3@ Wt
TP SIPT T Jeale! Iac &t ARY gTd Ieg | o k| 31T g1 TS| UReg gant & f&a Ft amr o off ugh
P aE oid 8! A1 TSR A ST H & TR a8 3T g3 & o WY awe ) sred-uRT AR
SR™Y fraT| wawawy ag st ff g1 @it

IR TTEITRT B UGHR 1 IR T Y BT IR Jargd:
T - ‘I BT AT Teg 7 2

1. 3T A PIS 16!

2. W&

3. POz

4, 3[uer
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Correct Answer :-

. 3T

21) I HIY W AR & 7Y Td MY 3, 3R B el Y, 3Hial A warar-wt fepa @t i B & weit
# frperd € ST geareT d¢ 7 ol SR gRRa-Ruidt @ 3ifd ar gid 8 SiuA & arase dreR-391 gias
PE IABT 3R FeT X 3R R-eR gart i § &t S H Wt It T ok uSifRE
IAP! IR Pigga-Hdt =P & @, uﬁmﬁ%mﬁmqum@lmwsﬁ&nﬁm
Tt PIod b GR W Bl g5 g AT Bied A o gl | Ieg W deaid! # gra 93 36 ¢ 39 Wt
TS 3B 9 gedlel Iac & RY g1d oo d o R | 3T 931 715 | uReg gl & foa ot o 3 off wgt
B aRE oTd 3BT A1 TSR A ITDI B T SATHR T8 S g3+ & ¢ WS g2 ot - RT TR
SRR {411 wawaey ag st ff g9 @it

ST TR B UGHR 1 YD T Y BT IR JaT3:
U - 9ealgl § ?

1. qa

2. T A PIS 6T

3. UIRTTh

4. SMYFOT

Correct Answer :-

22) I@C HIY Y AR & 7Y Tdl MY A, 3R B TeT Y, SHial A warar-wt frea @t &t e & et
# forepard €1 S oA §g B fordn| SR Iiom-Ruid & offd R g1d € Siun & sras[g araR-1 §16%
T ITD! 3R FeT 3T 3R TR-d¥ gardt &= F it Sif & WSt Swat wufaat v v =
3! 3R Pigga-4i =R A T, Wgﬁﬁﬁﬁaﬁmqumﬁwﬂa&wsﬁ&nﬁm
TN PSR F gR W Bl g8 98 AT 1o A o gl | e W deare! A g 91 381 41 S99 Wt
TS BB A Fedlg! Ide &1 IRI gTd Ieo § o k1 3T g31 715 | uReg gl & faa ot om 3@ off wgt
B ¥ oa 381 At TSIREN 7 D! Piodl T THR I8 N I+ & forg WS au =i 1 Ta-URT TR0
SR fHaT| weawy a8 dof 4l g1 &l

IR TTEITRI B TGP 1 Y& T Y BT IR JaTsd:
U - USHYE! 3 & fopar 2

1. QORI &I Siel

2. QORI &I bR faam

3. QORI Bl IHI|

4, AR § e fer|

Correct Answer :-

« QORI DI A

23) Iahe HIY F GART & U T MY 9, 3R HSF 6T U1, i@l § sarar-t e @ &t B & et
# frpad € ST gRam d¢ R | SR RM-Ruidt @ 3ifd ar g1 8 SiuA F aravg dreR-31 §ies
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Tg IFD! AR FeT 3R 3R TR-6¥ gardt o= § &idh | ot & WSt Suwt Jufat ik usifET =
Iq@! SR Piqea-widl =} q I, wg A A 3T SR 3G q% 7 IoTg | It TG & A ;g
TN BISS P §R W ! S a8 AT Do) # o YRfl | Tee W geared! # e 9R 7 8t e Wt
TS 3B A Fedle! Iac &l TRY o1d Iee A o1 1 3T g1 715 | wReg gl & @ ot om o off wgh
P avg od 381 At TSR A TSI B A STHR a8 S g3+ & forg fS au= 3t Fd-uRT TR0
AR fraT| weaey ag 331 Wi g1 e it

IR T B UGB -1 Y& TT IY BT IR qaTgd:
U= - GARI & 1Y Pt 1 foamg ot 2

1. I ATH Gl

2. HAd 816 BT HSH

3. Had 3G BT ATl g1

4, SR gt

Correct Answer ;-

. SWRigd gt

24) IC HIY W AR & TY Td MY 3, 3R B el A, 3Aial o warar-at fea @t &t B & weft
T fFrrad g ST Seam §¢ o1 o 3R YRRI-Raidt / 8if@ ar gia &) 319 & Jrase aaR-31 glas
Tg ITD! AR FeT 3R 3R TR-dR gardt o= § &idh 1 i & WSt Sua! Sufat ik v =
IS SR Biqpa-udl ef¥ A ¢, g gAY 3 3D 3R 3 qeb 7 3375 | Wl Tgehe & A I15
TN Do F §R W hepd! g8 a8 AT Do # &1 PRi 1 oo W geard) # e gr & &t ' W
TS BB § Tedlgl ST & | RT oTd Iee d o FR 1 W g1 715 | U g & fea ot 3T 3 off ugt
D @R oId 381 A1 USRI A STSBT B | SATHR a8 S gei+ & g #S aa+i ot od-uRT TR
AR fHaT| wawaw=y ag 33t W g @it

ST T P UgH? A YR T UY P IR Ia13d:
W= - TR e 31 fawn 2
1. BRI

2. e
3. SR

4, U™

Correct Answer :-

25) IhE BIY F AR & TYA Tdl MY 3, 3R B 61 Y1, 3Hidl I warar-t a8t &t B & wreft
# frpad € S SXaren ¢ PR o1 SR gRM-Ruidt @ 3ifd IR g1 8 1A & STave deR-91 giex
Hgp SHS! 3R T 3R geR - gard S § «idh | S o Tt STt Wil 3R usifRET 3
ITP! 3R Digga-uit =¥ F T@, mﬂmﬁsﬂﬁmqumnﬂaﬁwaﬁ&nﬁm
TN BIo F §R W bl S a8 AT Dot # o PRfl | Tee W geard) # e 9R <& &t ST Wt
TP 3P A Tedle] Iac &l TRY oTd Iee A o1 1 3T 921 715 | wReg g} & fea ot om o off wgh
P avg oTd 381 At TSR A 3BT B A SATHR a8 S g3 & g fiS aw= ) ot Fd- R TR
R 1| wowawy g $s1 i g @t
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SUYE TR B USHR A D T UY HT IR qa15:
T - TG TR § T ETaRT el € ?

1. 3T TR TR §HT

2. i = firamn

3. 31 &1 g

4, 3T

Correct Answer :-

o MR WR T

26) IE HIY F AR & TY Tdl MY 3, R B Va1 Y1, 3@l o warar-dt fepa 1t &t B & reft
# frpad § I geame ¢ PR o1 SR YRM-Ruidt @ oifd IR g 8 Si1A F ST deR-91 gies
g SHBT SIX TaT 3R 3R TR-IR gart oI 7 it S & Wt Iwa! Hfal ofik usiRET 3
Iqa! SR Piqea-wdl =} A I, wg A 7 I SR i q 7 3015 | At TG & A g
T Do F GR W hepd! S a8 AT Do # o PRfl | Tee W geard) # g 3R ) &t ' Wt
TS BIP: § Teale! Iac < TRY o1 gee A o 1 3T 921 718 | g g} & fea ot 3 3 off wgh
P avE od 381 A1 TSR A 3B B A SATHR a8 S g3 & forg S a==) oS- R
R fFaT| wawaey ag st ff g9 @i

I T $ UgHR HY UD T UY BT IR qaIsd:
TR - TU T T A § 2

1. 1Y I TG A g1

2. 1Y T HIC g BT

3. 1Y Y gI-Uiel gl

4. p1Y Y ST-UTel §IHT

Correct Answer :-

. DY Y AI-Urar g

27) Ihc HIY F AR & 7Y TdA MY 3, 3R B a1 U, 3Aial A warar-at fAwpa @ &t B & et
# e 8 SR AT 9 B o1 IR IR-RAER & ofd 9 81 € S & STaeg aeR-91 §16%
P IUD! AR FeT 3T 3R TR-dR gardt = F «fidh i & Wt Swat Tafaat ok v =
SHS! SR Piea-’l € F 3T, Teg AR A ITH 3R 3G q% 7 3oT5 | At TG SU&T A g
TNt PIodt b §R W Hdel g5 a8 TN Bred & o gl | Tre W geaid! # gra 93 36t ¢ 3T Wt
TS BB | Tedlg! Iac & ORY o1 Iee § o 1 3T 921 715 | uReg g & fea ot 3m 3 off ugt
P avg od IE1 Jt1 USRI A ITBI Bl A ATHR 98 S g+ & ¢ #S au=i ot od-uRT TR
AR a1 wawaw=y a8 st Wt g+ @t

ST TR B UgH Hd UD T UY BT IR qargd:
U= - ST 1 faaiv Usg § 2
I CTRCI G

2. T
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3. o T
4. bl

Correct Answer :-

28) I@C BIY W AR & TY Tdl MY 3, 3R BSH &1 U, 3HEl A warar-ut o @t &t B & et
W fApard g1 9 SRaTel 9 o [T SR ler-Ruldy @ 3ifE IR 81 € U1 & STas]g dreR-31 §1)
¥ SHHT AR TaT 3R TR MR- gar o & A1 ST & St I TR R TRIRET %
ITP! 3R Pigga-yi = F @, uﬁgﬁﬁﬁmeﬁ?qumlmw@&nﬁm
T DS P §R W hepd! §S a8 AT Blos) # o Yol | Yoo W geald! # e 9R el 0t 3o Wt
TS 3B | Fedlg! Iae & ART g1d Ieo § o R | 3T g31 715 | uReg gl & faa ot 3 3 off wgt
P @R ord g1 A1 TSR A IS B & SATHR a8 S g3+ & e WS a9+ ot SIa-aRT TR0
IR fFaT| Beay a5 381 Wi g el

ITIT TR P TP -9 T TT UY BT IR qa14:
T - Do FT AT § 2

1. 9

2. ASUTA

3. BT B
4, 4gd

Correct Answer :-

. BITHFR

29) IhE HIY W AR & 7Y Tdl MY 3, 3R Hed Vel YT, 3@l A warar-ut fAewd &t &t e & 1eit
# frpad 8 I oA de R o SR gRM-Ruidt @ 3ifd ar g1 81 SiuA & STave dreR-31 gies
Tg ITD! AR FeT 3R 3R TR-6¥ gart o= § it it & WSt It Tufrat o usiREl =
IADT SR Digea-Hi =B | g, Wmﬁmﬁmquwﬁlmw@&nﬁm
TN B8t & gR W hbdl 3 a8 3T Dot # o Yol | Yoo W geard! & ara ge ) At 3o Wt
& 3P I dedl! ae &t | AT STd geg B off R | 3N g1 TS | UReg gant & faa ot 3mr o9 oft gt
P aRE d Yol At TSR A IS HIat § THR a8 S g3+ & fore WS a== 3t sa-arT R
RAY fHa11 Hawaey ag st Wt g1 @l

IUYE TR P UgHR A IR T UY HT IR Ia13d:
U - '3i1E IR g1 ggrax &1 f g 2
1. S{THAT-ITHAT BT

2. 3@ ¥ AR HT
3. 31 AT g
4. 3@ G ST
Correct Answer :-

o SHEAI-GHAT BT
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30) Ihe HIY A AR F TYA Tad T &, 3R B QT 4T, i@l A warar-A fFrea @t 01 g F et
A Frpad & I8 TRare o B forn| IR PRra-RuéR & 3ife 7R € € iue & STavg AraR-H1 gie]
Pp ITD! AR FeT 3R 3R TR-dR gardt o= F it Sifr & WSt Swat Jufaat oiv ueife =
Iq@! 3R Pigga-udl = F 3, Wm%mmquwﬁlmwaﬁ&ﬂﬁm
TN B F gR W Hebdl g5 98 T o & T gl | Feg W Ieare! A g 91 81 41 S99 Wt
TP 31D & Jeale! Iae &t AR} oTd geg | o | 3T g1 TS | UReg gant & e 3t amr o9 oft wgh
B a3 oa 321 A1 USIRFN 7 3P| Piodl A THR 98 AT I+ & forw S au= Y a-4rT R
R fHaT| wawaw=y a8 st it g @t

IR TR B UGH 1 Y& T Y BT IR qaT3d:
U - Ie6T TG & ?

1. fag=ret

2, SIS

3. ddH

4, daad

Correct Answer :-

Topic:- English (ENG)

1) Choose the synonym for the underlined word in the given sentence.

Their uncouth laughter sounded loud in the room.

1. gracious
2. suave
3. civilized

4, coarse

Correct Answer :-
e coarse

2) Choose the antonym for the underlined word in the given sentence.
The instructions look very complicated, but I will try to fix it.

1. tortuous

2. meandering

3. convoluted

4. straightforward
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Correct Answer :-
» straightforward

3) Choose the appropriate suffix to get the noun form of the underlined word in the given
sentence.

The Taj Mahal is a magnificent building.
1. magnificence
2. magnanimous
3. magnanimity

4. magnificently

Correct Answer :-
« magnificence

4) Choose the appropriate modal to fill in the blanks.
Ifit____ rain, they will not come.

1. can

2. may

3. might

4, should

Correct Answer :-
e should

5) Choose the appropriate adverbial clause to fill in the blank.
The stolen goods were found

1. outside the garage

2. where the dacoits usually hid things

3. in the dacoit’s hiding place

4, and the police confiscated them all

Correct Answer :-

» where the dacoits usually hid things

6) Choose the appropriate tense to fill in the blanks.
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Everyday, the shop _____ at 8 in the morning.
1. will opens

2. would opened

3. opens

4, open

Correct Answer :-
e opens

7) Choose the appropriate phrase preposition to fill in the blank.
__ introduction, he made some pertinent remarks.

1. On way of

2. On the way

3. By way of

4, In the way

Correct Answer :-

+ By way of

8) Choose the appropriate phrase to fill in the blank.
She___ the people standing nearby.

1. yelled at

2. yelled into

3. yelled out

4. yelled off

Correct Answer :-

o yelled at

9) Choose the appropriate articles to fill in the blanks.

hour at house is enough to give you an impression about the family that lives there.
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Correct Answer :-

10) Choose the appropriate noun clause that could replace the underlined part of the given
sentence.

hurts me.
1. Cheating
2. The statement
3. That you should cheat me

4. Even the thought of his suffering

Correct Answer :-
« That you should cheat me

11) Choose the appropriate idiom to fill in the blank.
Therewillbe ___ in today's interview.

1. no holds barred

2. holding pattern

3. hold of

4, hold all

Correct Answer :-
¢ 1o holds barred

12) Choose the appropriate idiom to fill in the blank.

Despite the slump in crimes, the Superintendent hasbeen ___ .
1. at the wrong foot of the sergeant

2. running the sergeant off her feet

3. landing the sergeant in her feet

4. rushed the sergeant into her feet

Correct Answer :-

» running the sergeant off her feet

13) Choose the appropriate determiner to fill in the blanks.
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The climate of Belgavi is like _____ of Pune.
1. these

2. this

3. that

4, those

Correct Answer :-

o that

14) Choose the option that correctly changes the voice in the given sentence.
The officer asked me my name and he jotted it down.

1. T asked my name by the officer and jotted it down by him.

2. I was asked my name by the officer and it was jotted down by him.

3. My name was being asked and had been jotted down by the officer.

4. My name was asked by the officer and he jotted it down.

Correct Answer :-

+ [ was asked my name by the officer and it was jotted down by him.

15) Choose the option that correctly changes the voice in the given sentence.
The captive was bound to a tree.

1. The captive was bound to a tree by someone.

2. A tree was bound to the captive by someone.

3. Someone bound the captive to a tree.

4. Someone bound the tree to a captive.

Correct Answer :-
» Someone bound the captive to a tree.

16) Choose the option that best transforms the simple sentence into a compound sentence.
To his eternal disgrace, he betrayed his country.

1. His betrayal of the country brought him disgrace.

2. He was disgraced by the betrayal of his country.

3. Eternal disgrace is the result of the country being betrayed by him.

4. He betrayed his country, and this was to his eternal disgrace.
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Correct Answer ;-
» He betrayed his country, and this was to his eternal disgrace.

17) Choose the option that best transforms the given interrogative sentence into an assertive
sentence.

Why waste time reading trash?

1. Is it wasting time when one reads trash all the time.
2. It is extremely foolish to waste time in reading trash.
3. Must you waste time reading trash foolishly

4. Wasting time is foolish because one reads trash, isn’t it?

Correct Answer :-

« It is extremely foolish to waste time in reading trash.

18) Which of the following is not one of the characteristics of English Language?
1. It is evolving over the years

2. It is used for communication

3. It is inborn and need not be learnt

4. It is acquired through training

Correct Answer :-
o It is inborn and need not be learnt

19) Which of the following is true in the context of using effective teaching learning materials in
class?

1. Teaching without any materials helps in enhancing creativity
2. Use of materials fail to break the monotony of the teacher-centered classrooms
3. Use of relevant materials makes completion of the task very difficult

4. A task without any material seems quite boring and burdensome

Correct Answer :-

» A task without any material seems quite boring and burdensome

20) Read the following letter and answer the given question.

To,
Whomsoever it May Concern
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I have had the pleasure of employing Joy Jen for five years. Joy has handled many
responsibilities in these five years. She has handled customer interaction, inventorying, and
content writing for our website, Joy is an intelligent, responsible, energetic lady who never loses
her cool in any crisis. I am sure that Joy will perform any responsibility given to her with care
and maturity.

Yours sincerely

Susan Sanders

CEO

J.0. Enterprises

According to Susan, which of the following comments is true about Joy?
1. she will be composed in the face of a crisis

2. she will panic in the face of a crisis

3. she will handle all crisis with trepidation

4. she will handle all crisis with apprehension

Correct Answer :-
» she will be composed in the face of a crisis

21) Read the following report and answer the question given below:

Healthy Eating Mela

Students from the Ganapur High School organized a Healthy Eating Mela to spread the message
of good food habits. The competition included events like Cooking without Fire, Conjuring
Salads, and Watch the Calories. Our chief guest for the day was the famous nutritionist Ms.
Kamala Madhav. She spoke to the students about what is healthy and what is unhealthy food.
The day must certainly have found several converts from junk to healthy food.

Based on this given report, what does the author say must have been the consequence of the
event?

1. Students would abandon healthy food habits and turn to junk food
2. Students would give up junk food and adopt healthy eating habits
3. Students would think that junk food is healthy and continue to eat it

4. Students would understand that junk food is not unhealthy

Correct Answer :-

» Students would give up junk food and adopt healthy eating habits

22) Read the passage carefully to answer the given question:
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Make in India initiative was launched on September 25, 2014, with the primary goal of making
India a global manufacturing hub, by encouraging both multinational as well as domestic
companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the
manufacturing sector to 25% of the Gross Domestic Product (GDP) by the year 2025 from its
current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector.
It targets 25 sectors of the economy which range from automobile to Information Technology
(IT) & Business Process Management (BPM), the details of each can be viewed on the official
site. It also seeks to facilitate job creation, foster innovation, enhance skill development and
protect intellectual property. The logo of ‘Make in India’ — a lion made of gear wheels — itself
reflects the integral role of manufacturing in government’s vision and national development.

Apart from making India a global manufacturing hub, the Make in India initiative seeks to do a
few more things. Which one of the following options in NOT one of them?

1. safeguard intellectual property
2. encumber skill development
3. nurture innovation

4. succor job creation

Correct Answer :-

» encumber skill development

23) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making
India a global manufacturing hub, by encouraging both multinational as well as domestic
companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the
manufacturing sector to 25% of the Gross Domestic Product (GDP) by the year 2025 from its
current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector.
1t targets 25 sectors of the economy which range from automobile to Information Technology
(IT) & Business Process Management (BPM), the details of each can be viewed on the official
site. It also seeks to facilitate job creation, foster innovation, enhance skill development and
protect intellectual property. The logo of ‘Make in India’ — a lion made of gear wheels — itself
reflects the integral role of manufacturing in government’s vision and national development.

According to the passage, which of the following is not among the sectors of economy about
which details could be obtained from the official website?

1. Information Technology
2. GDP
3. BPM

4, Automobile

Correct Answer :-

« GDP
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24) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making
India a global manufacturing hub, by encouraging both multinational as well as domestic
companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the
manufacturing sector to 25% of the Gross Domestic Product (GDP) by the year 2025 from its
current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector.
It targets 25 sectors of the economy which range from automobile to Information Technology
(IT) & Business Process Management (BPM), the details of each can be viewed on the official
site. It also seeks to facilitate job creation, foster innovation, enhance skill development and
protect intellectual property. The logo of ‘Make in India’ — a lion made of gear wheels — itself
reflects the integral role of manufacturing in government’s vision and national development.

Which of the following options best expounds the logo of Make in India as given in the passage?

1. the lion indicates the integral role of the foreign manufacturing sector and the gear wheels symbolize
their nation

2. the lion indicates the integral role of the multinational companies and the gear wheels symbolize the
domestic companies

3. the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the
nation

4. the gear wheels indicates the integral role of the Information Technology and the lion symbolizes the
Business Process Management (BPM)

Correct Answer :-

« the gear wheels indicate the integral role of the Indian manufacturing sector and the lion symbolizes the
nation

25) Read the passage carefully to answer the given question:

Make in India initiative was launched on September 25, 2014, with the primary goal of making
India a global manufacturing hub, by encouraging both multinational as well as domestic
companies to manufacture their products within the country. Led by the Department of
Industrial Policy and Promotion, the initiative aims to raise the contribution of the
manufacturing sector to 25% of the Gross Domestic Product (GDP) by the year 2025 from its
current 16%. Make in India has introduced multiple new initiatives, promoting foreign direct
investment, implementing intellectual property rights and developing the manufacturing sector.
It targets 25 sectors of the economy which range from automobile to Information Technology
(IT) & Business Process Management (BPM), the details of each can be viewed on the official
site. It also seeks to facilitate job creation, foster innovation, enhance skill development and
protect intellectual property. The logo of ‘Make in India’ — a lion made of gear wheels — itself
reflects the integral role of manufacturing in government’s vision and national development.

According to the passage, which of the following is NOT one of the initiatives introduced as part
of Make in India?
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1. promote foreign direct investment
2. develop the manufacturing sector
3. protect multinational companies

4. implement intellectual property rights

Correct Answer :-

« protect multinational companies

26) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their
descent. She was proud of their age, and saw no reason for discarding them while they were still
serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt
Sophronia she had inherited a stout set of every-day prejudices that were practically as good as
new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she
had long since been silenced by the reply: "My dear, I'm not a rich man, but I never use an
opinion twice if I can help it."

How did the husband’s opinions differ from the wife’'s?
1. They were always as good as new

2. They were always serviceable with no reason to discard
3. They were always having to be replaced

4, They were practically never having to be replaced

Correct Answer :-

» They were always having to be replaced

27) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their
descent. She was proud of their age, and saw no reason for discarding them while they were still
serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt
Sophronia she had inherited a stout set of every-day prejudices that were practically as good as
new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she
had long since been silenced by the reply: "My dear, I'm not a rich man, but I never use an
opinion twice if I can help it."

What were practically ‘as good as new’ and inherited by the wife?
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1. quaint pleasure opinions
2. everyday prejudices
3. serviceable heirlooms

4. stout set of practical ideas

Correct Answer :-

» everyday prejudices

28) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their
descent. She was proud of their age, and saw no reason for discarding them while they were still
serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt
Sophronia she had inherited a stout set of every-day prejudices that were practically as good as
new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she
had long since been silenced by the reply: "My dear, I'm not a rich man, but I never use an
opinion twice if I can help it."

What is the implication when the author calls the wife’s opinions ‘heirlooms’?
1. that they gave pleasure

2. that they were about her hair

3. that they were inherited

4. that she was proud of them

Correct Answer :-

« that they were inherited

29) Read the passage carefully to answer the given question:

Most of his wife's opinions were heirlooms, and he took a quaint pleasure in tracing their
descent. She was proud of their age, and saw no reason for discarding them while they were still
serviceable. Some, of course, were so fine that she kept them for state

occasions, like her great-grandmother's Crown Derby; but from the lady known as Aunt
Sophronia she had inherited a stout set of every-day prejudices that were practically as good as
new; whereas her husband's, as she noticed, were always having to be replaced. In the early
days she had fancied there might be a certain satisfaction in taxing him with the fact; but she
had long since been silenced by the reply: "My dear, I'm not a rich man, but I never use an
opinion twice if I can help it."

According to the passage, the wife’'s everyday prejudices were inherited from ?
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1. the Crown derby
2. Aunt Sophronia
3. her husband

4. her great grandmother

Correct Answer :~-

» Aunt Sophronia

30) Read the poem carefully before answering question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Whose loss is the poet mourning?
1. maiden Lenore
2. forgotten lore

3. a late visitor
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4, bleak December

Correct Answer :-

o maiden Lenore

31) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“'Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What is the rhythmic structure evident in the first line?
1. iambic pentameter

2. spondaic hexameter

3. anapestic monometer

4, trochaic octameter

Correct Answer :-

o trochaic octameter
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32) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,
Over many a quaint and curious volume of forgotten lore—

While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain

Thrilled me—filled me with fantastic terrors never felt before;
So that now, to still the beating of my heart, I stood repeating
“Tis some visitor entreating entrance at my chamber door—

Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

What does the poet eagerly wish for even in the midst of his sadness?

1. visitor

2. books

3. books of sorrow

4, tomorrow

| Co>|;|.-.éct Ahswer i-
e tOomorrow

33) Read the poem carefully before answering the given question:
Once upon a midnight dreary, while I pondered, weak and weary,

Over many a quaint and curious volume of forgotten lore—
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While I nodded, nearly napping, suddenly there came a tapping,
As of some one gently rapping, rapping at my chamber door.
“'Tis some visitor,” I muttered, “tapping at my chamber door—

Only this and nothing more.”

Ah, distinctly I remember it was in the bleak December;

And each separate dying ember wrought its ghost upon the floor.
Eagerly I wished the morrow;—vainly I had sought to borrow
From my books surcease of sorrow—sorrow for the lost Lenore—

For the rare and radiant maiden whom the angels name Lenore—

Nameless here for evermore.

And the silken, sad, uncertain rustling of each purple curtain
Thrilled me—filled me with fantastic terrors never felt before;

So that now, to still the beating of my heart, I stood repeating

“Tis some visitor entreating entrance at my chamber door—
Some late visitor entreating entrance at my chamber door;—

This it is and nothing more.”

Which of the following figures of speech best describes the use of the words ‘tapping’ and
‘rapping’ in lines three, four, and five?

1. Alliteration
2. Litotes
3. Personification

4. Onomatopoeia

Correct Answer :-

« Onomatopoeia

34) Read the following notice and answer the given question
Green National School, Mathura
NOTICE
28 January 2019

This is to inform all students that our school is organizing a 2 day field trip to the Wipro
Industrial Estate. The details are as follows:
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Classes: VIII to X
Dates: 23 February to 25 February

Those who are keen on registering for the trip must pay 1500 rupees to Ms. Ritu, Biology teacher
before 31 January.

Principal

Where will the students be going during the field trip?
1. Mathura Industries

2. Wipro Industrial Estate

3. Biology lab in Mathura

4, Fields near the school

Correct Answer :-
» Wipro Industrial Estate

35) Read the following advertisement and answer the given question.
ADVERTISEMENT

KENDRIYA VIDYALAYA, AMEERPET

Walk-in Interview for part time SQUASH COACH on 3rd July, 2018 at 10 a.m at the Vidyalaya
campus. For more details please visit kvameer@kv.in. Eligible candidates must attend the
interview with original and attested copies of educational qualification and work experience. No
TA/DA will be paid for attending the interview.

Sd/-

Principal

What are the documents that the interviewees ought to carry to the interview?

1. Both Notarized and photocopies of documents related to education and work experience
2. Both original and attested copies of documents related to education and work experience
3. Only attested copies of documents related to education and work experience

4. Only original documents related to education and work experience

Correct Answer :-

» Both original and attested copies of documents related to education and work experience

36) Read the following poster and answer the given question
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DJ SCHOOL CLUB
is
organising a Diwali Mela
to
bring light and happiness into everyone’s life
Venue: TK Stadium, North Campus
Date: 7'M to 9t November
Time: 6 p.m. to 9 p.m.
Entry fee: Adults 20/~ Children 5/-
Let’s make this Diwali cracker free
Sponsored by

Ronex

Which of the following statements is not true based on the information from the poster?

1. The Mela is sponsored by Ronex and organized by the DJ School Club

2. The club will charge an entry fee for those who wish to join the Mela

3. The organizers will distribute free crackers during the celebrations

4. There will be no pyro techniques displayed during the Mela

Correct Answer :-

« The organizers will distribute free crackers during the celebrations

37) Read the following letter and answer the given question.

Dear Dev

How are you? I am sure that your studies must be keeping you busy. I am glad to tell you that I

have now been selected to the theatre group. We have a play coming up next month at
Rangashankara. It is a big deal. Remember, we had once met the who’s who of theatre and

cinema at Rangashankara. Maybe, my dream might come true and someone will notice me for a

small role in the movies. Well, enough of day dreaming. How are things at your end? When is

that big test of yours? Do write to me as soon as you could.

Yours truly

Jo

According to the letter, what does Jo hope might happen at Rangashakara?

1. he will be noticed by an influential person who might offer him a role in the movies
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2. he will be introduced to the greatest personalities from theatre and cinema
3. he will fumble his part in the upcoming play and lose his face

4. he will win the best actor award at the upcoming play

Correct Answer :-
+ he will be noticed by an influential person who might offer him a role in the movies

38) Read the following letter and answer the given question.

To
The Recruitment Officer
Anganwadi, Bidar

Dear Sir,

I wish to apply for the post of Anganwadi worker at Bidar. I have completed my Matriculation
with First class. The Principal of my school, Bidar High School, is willing to give you a reference
for my conduct. Please consider my application. I will work hard and do my best.

Thank you.

Kishan Raj

Fill in the details based on the letter.

Name:

Post: _

Education:

Referee:

1. Recruitment Officer, Anganwadi worker, 12t Grade, Principal of Bidar High School

2. Recruitment Officer, Anganwadi worker, First Class, Principal of Bidar High School

3. Kishan Raj, Recruitment Officer, Matriculation, Anganwadi worker at Bidar High School

4. Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

Correct Answer :-

» Kishan Raj, Anganwadi worker, Matriculation, Principal of Bidar High School

39) Read the following letter and answer the given question.
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To
The Editor

The Hindu

Dear Sir,

In response to the news about the Municipal Corporation of Hibbalpur converting the public park
into a bus stand, I would like to express my strong displeasure as a citizen. There are very few
public parks in the Hibbalpur locality. Moreover, shifting the bus stand there will increase
pollution in an otherwise clean residential area. The Corporation is sure to face more severe
protest from the residents of Hibbalpur in the coming week.

Yours faithfully,

Krishna Swamy

What would be the dominant tone of this letter?
1. complaisant

2. congenial

3. irate

4, insolent

Correct Answer :-

e irate

40) Read the following letter and answer the given question.

To,
Communications Skills Training

Munnar, Kerala

Dear Sir,

I write to enquire whether your company would offer a 5 day Communications skills workshop
for our new recruits at HR Customer Services, Munnar. We have a group of 25 fresh graduates
who need training in customer interaction, etiquettes, presentation and such other skills. If you
could send us the details about your training program, the cost, and the trainer profile, we could
fix an appointment accordingly.

Thank you
Manager

HR Customer Services
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Which of the following are among the details that the Manager asked for from the
Communications Skills Training company?

1. the details about the program offered by Communications Skills Training
2. the profile of the new recruits at HR Customer Services
3. the cost of several communication skills materials available in the market

4. the cost of their Time Management course
Correct Answer :-
« the details about the program offered by Communications Skills Training

41) Read the following letter and answer the given question.

Dear Kaite

I hope you are well. I am waiting for the summer holidays. I'm writing to you because I want to
invite you to visit me during the holiday season. We could visit the heritage centers and
museums or spend the day at the movies or wander around the shopping malls. Let me know
what you think. We could plan everything then.

Hoping to see you.

Jainne

Which of the following is not one of the things that Jainne suggests she and Kaite could do
during the summer holidays?

1. spend the day at the movies
2. visit the heritage centers and museums
3. go swimming on the sunny beaches

4. wander around the shopping malls

Correct Answer :-

e go swimming on the sunny beaches

42) Read the following instructions and answer the given question.

Follow these guidelines when there are children with disabilities in the class.
FOR MATERIALS

» Get audiobooks through services like Bookshare, a free online library for students with
disabilities
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» Provide pictures of directions and schedules

Use large-print text for worksheets

Simplify directions with key words for most important ideas

Provide colored strips or bookmarks to use when reading

According to the instructions given, which of the following options is not among the things that a
teacher should do for the students with disabilities?

1. Use audiobooks whenever possible
2. Use simple, key words to give important directions
3. Provide notes in advance for all the chapters in the text

4. Provide colored bookmarks to enable them to track their reading

Correct Answer :-

» Provide notes in advance for all the chapters in the text

43) What is one of the major drawbacks of the structural approach?

1. it taught language in meaningful contexts that learners could relate to

2. led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

3. It gave learners language that could be used in real life situations instead of just the ability to use correct
sentences in classrooms

4. it bridged the gap between “linguistic age” and “mental age”

Correct Answer :-
» led to a fragmentation and trivialisation of thought by breaking up language into structures and skills

44) What is one of the major problems faced in the implementation of the Continuous and
Comprehensive Evaluation (CCE)?

1. teachers largely consider CCE as an integral part of the assessment process
2. the teachers integrate the assessment with the teaching-learning process

3. it is considered by teachers as an external activity that is to be followed after the completion of a
topic/lesson

4. it is given significant attention by teachers to integrate into the teaching learning process

Correct Answer :-

+ it is considered by teachers as an external activity that is to be followed after the completion of a
topic/lesson
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45) What is a major aim of remedial teaching?

1. to enable detention practices that would instill fear in a child

2. to dictate notes of every chapter so that a child could learn everything by heart
3. to put a child through grueling hours of drill so that he despises learning

4. to bring a child to minimal acceptable levels in each class

Cbrrect Answer :-

« to bring a child to minimal acceptable levels in each class

46) What is the role of grammar in teaching language?

1. sensitise the child to language-sound structures

2. develop the imagination

3. reconstruction of the meaning of the attempted expression through imperfect English

4. tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and
argumentation

Correct Answer :-

«» tool for increasing the language repertoire and for understanding the construction of text “rhetoric” and
argumentation

47) What is the one of the methods adopted by the government to tackle the challenge of the
multilingual nature of the Indian society?

1. the grammar-translation method
2. the information technology curriculum
3. the modern language policy
4, the three language formula
‘ Cdr;ect AhsWér -
» the three language formula
48) In mother tongue learning, speech progresses from ____ through ___ to
1. one word, one sentence, several sentences
2. one sentence, two sentence stage, multi-sentences
3. one phoneme, a few morphemes, multi-vowel stage

4. one word, two word stage, multi-word sentences
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Correct Answer :-
« one word, two word stage, multi-word sentences

49) According to Norbert Schmit (2000) “whereas the of a language is largely in place by the
time a child is 10 years old ..., continues to be learned throughout one’s lifetime.”

1. grammar, vocabulary
2. order, structure
3. structure, order

4. vocabulary, grammar

Correct Answer :-

» grammar, vocabulary

50) Listening and Reading proficiency in language learners mainly develop __ skills.
1. expression

2. comprehension

3. articulation

4. delivery

Correct Answer :-

» comprehension

51) Which one of the following is NOT a correct statement?
1. Writing is an important Language Skill

2. Listening is an important Language Skill

3. Reading is an important Language Skill

4. Reckoning is an important Language Skill

Correct Answer :-

» Reckoning is an important Language Skill

52) Which of the following statements is true in the context of sentence construction in a language?
1. when compared to organizing words, there is no order of organizing sentences in any language

2. Like in the case of organizing sentences, there is no order of organizing sentences in any language
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3. as compared to the level of sentences, language is more tightly organised at the level of words

4. as compared to the level of words, language is more tightly organised at the level of sentences

Correct Answer :-
 as compared to the level of words, language is more tightly organised at the level of sentences

53) Which of the following is an important consideration when choosing teaching materials for a
class?

1. need to be as confounding as possible in the extend of texts that will be used
2. need to be sensitive to perspectives of equity (gender and societal) and harmony
3. need to be rigid and inconsiderate to the cultural and local contexts of learning

4. need to be circuitous when deciding the concepts to be dealt with in class

Correct Answer :-

» need to be sensitive to perspectives of equity (gender and societal) and harmony
54) Which of the following is one of the aims of teaching English Poetry?

1. enable students to solve puzzles

2. enable students to write an essay

3. enable learners to prepare reports and brochure

4. enable learners to appreciate rhythm and feeling

Correct Answer :-
+ cnable learners to appreciate thythm and feeling

55) 1In the case of English words like ‘fun’, ‘rain’, and ‘fish’, how would you convert them into
adjectives?

1. add ‘ion’ at the end

2. add ‘in’ at the beginning
3. add ‘y’ at the end

4. add ‘a’ at the beginning
Correct Answer :-

» add ‘y’ at the end

56) Choose the closest meaning of the underlined phrase in the given sentence.
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The act of burying a dead person sometimes becomes mundane for an undertaker.

1. Internment
2. Interstitial
3. Interment

4, Intermittent

Correct Answer :-

o Interment

57) Choose the closest meaning of the underlined phrase in the given sentence.

After the event he felt weak and tired.

1. encomiastic
2. energized
3. enervated

4. engineered

Correct Answer :-

e enervated

58) Satish was out of office when he got a call from the onsite supervisor asking him to immediately send the
office assistant with the BMP approval form to the Head Office in Andheri. Govind, Satish’s colleague, has to fill
the following out of office form passing on the message.

(Name), send with to in Andheri.

1. Office assistant, Govind, BMP approval form, onsite supervisor
2. Govind, Satish, Head Office, BMP approval form
3. Satish, office assistant, BMP approval form, Head Office
4. Satish, Govind, BMP approval form, Head Office
| Corre&)\nswerv:-‘
« Satish, office assistant, BMP approval form, Head Office

59) Change the given sentence into direct speech.
He urged them to be quiet and listen to his words.
1. He wished, “that they were quiet and listening to his words.”

2. He enquired, “are you quiet to listen to my words?”
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3. He exclaimed, “you are quiet and listening to my words!”

4. He said, “be quiet and listen to my words.”

Correct Answer :-
» He said, “be quiet and listen to my words.”

60) Change the given sentence into indirect speech.
He said to them, “will you listen to such a man?”

1. He asked them to listen to such a man

2. He asked them whether they would listen to such a man.
3. He said that they will listen to such a man.

4. He said to them that they will have to listen to such a man.

Correct Answer :-

» He asked them whether they would listen to such a man.
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